[image: image1.jpg]Once PC is depleted, the lactic acid system takes over and resynthesises ATP from the breakdown of
glucose. Glucose is stored in the muscles and liver as glycogen. Before glycogen can be used to provide

energy to make ATP, it has to be converted to glucose. This process is called glycolysis.

The lactic acid system is sometimes referred to as anaerobic glycolysis due to the absence of oxygen. In
a series of reactions, the glucose molecule is broken down into two molecules of pyruvic acid which is
then converted to lactic acid because oxygen is not available. The main enzyme responsible for
the anaerobic breakdown of glucose is PFK (phosphofructokinase), activated by low levels of phospho-
creatine and increased levels of calcium (released during muscle contraction from the sarcoplasmic
reticulum). The energy released from the breakdown of each molecule of glucose is used to make two

molecules of ATP.
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The lactic acid system provides energy for high-intensity activities lasting up to 3 minutes, but peaking

at 1 minute, for example the 400 metres.
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